HPJ-8100ESM2 1/2

Mﬂ/

Ve
/ﬂﬁi /

VI
T0I0000000)
20NN

17

Vi

00000y

7500~

3723

5200
5201

3302

S5724 50 $301

|
204

2

57287

|
5420 5754

5300
5760




89:(4% : HPJ-8100ESM2

EHNo.

HPJ-8100ESM2

RitiNo. #mI1—K L FRE
1510 3 B281911510 | #3950 1
1511 39110B08016 |i" )k M8X16 77°tyh 4
1520 3 B127131520 |7 DAy 1
1521 3 B281911521 |7 DAyt 1
1524 3 B127111524 | 50040y7° 1
3526 3 B127113526 | 7745 82320 1
5100 3 B287215100 | Jb-h 1
5200 3 B2872315200 | B4 BETIA 1
5201 3 B127135201 | YINUM L A-203 2
5250 3 B287215250 [#4FPETIB 1
5300 3 B287215300 | U¥ht"3 1
5301 3 9126R06030 | F39k b 1
5302 39162506000 |L34"h"% M63IN" L SUS 2
5303 3 9154B06000 |UFY M6 1
5304 39163506000 |A"#4"h°% M6 SUS 1
5350 3 B287215350 | JOUhhETI- 1
5400 3 B281915400 |I¥3 3
5401 39110B08016 |#" Ik M8X16 77°tyh 12
5420 3 B287215420 | UYIY3 1
5600 3 B287235600 [7u5"39AN- 1
5650 3 B281915650 | 74#° %) 1
5651 39110B08016 |#" Ik M8X16 77°tyh 2
5720 3 B281915720 | Ak YA 1
5721 3 B281915721 |Ak°¥¥°B 1
5722 3 B281915722 | Ak ¥¥°C 1
5723 3 B281915723 | AK°Y¥°D 1
5724 3 B281915724 | AK°U¥°E 1
5726 3 B287215726 |AK°U¥°G 1
5727 3 B287215727 | AK°Y¥°H 1
5728 3 B287215728 | AR U¥'L 1
5729 3 B287215729 | AR ¥ 1
5750 3 B281915750 | I°yHUA 1
5751 3 B281915751 | I°y#B 1
5752 3 B287215752 | I°y#C 1
5754 3 B281915754 | IUyJE 7
5755 3 B281915755 | I°yiVF 1
5756 3 B281915756 | I°yHG 1
5757 3 B281915757 | I°y#H 1
5758 3 B281915758 | I°y#JI 1
5759 3 B281915759 | )°y¥M] 1




89:(4% : HPJ-8100ESM2

EHNo.

HPJ-8100ESM2

RitiNo. #mI1—K e FRE
5760 3 B287215760 | I°yHK 1
5761 3 B287215761 |yl 1
7500 3 B2872H7500 [3A" MY 1
7501 3 B250857570 | IATM(HA39/ UM WUY 2
7502 3 B271517593 |3 ¥4V 1v) 1
7504 3 B120057510 | IA"I MI°Lysr- 1
7525 3 B275737525 |\ b U 1
7526 3 B127137526 |37 9739939 1
7527 3 B127137527 |\ YUY 1
7528 3 B320957570 | IA") M OIRTT VY 1
7533 39059T07000 | 77" N, )\{1EY 1
7535 3 B127137535 |5\ 397 U7Y 1
7536 3 D150007560 |37l MB™R 1
7539 3 B127137539 |3 A 1
7540 3 B1252H7519 |3l AbIC - 1




HPJ-8100ESM2 2/2




89:(4% : HPJ-8100ESM2

EHNo.

HPJ-8100ESM2

RitiNo. #mI1—K L FRE
0100 121027884 RG-516VLH25 1
0103 39101B08090 |i" )k M8X90 2
0104 39156B0800S |75V Fyk M8 " 12 2
0105 39162508000 |L34"h"% MBI I SUS 2
1500 | 3 E13G070040A |GB300LE-126 1
1505 39101B08040 |i" )k M8X40 2
1506 3 9162B08000 |74 1" 4M8 34”4l 4
1507 3 9163F08000 [N"#4"5"% M8 2
1508 3 9140B08000 | DYA7HYh M8 131 #3431 2
1525 | 35518373008210 [5°UN\°- 4
1530 3 B2819]1530 | h3- 1
1550 3 B2872J1550 |¥73- 1
1551 342KM70032AB |77 1" A7y 1
1552 39101B08030 |# )k M8X30 2
1553 3 9162B08000 |74 4" %*M8 4™l 4
1554 3 9163F08000 [A"#4¥" 4" % M8 2
1556 | 342B805B06X020 |77V " b 1
1560 3 B2872]1560 |IV¥"U5°)hB 1
1570 3 B2872)1570 | M¥IL+i-2 1
1571 3 9156B0800S | 75v5"fyb M8 JI"12 2
3510 3 B271513510 | N\“y7Y- FTX14-BS 1
3570 3 B281913570 | VY7 hb 2
3571 3 9151A06000 | F39#Yh 2
3572 3 9163F06000 A" 4% M6 2
3575 3 B281913575 | \MyUAYI 1
3576 3 B281913576 | 1"A{5 5TX160X90 1
3578 3 B281913578 | \y7Y-p"- 1
5100 3 B287215100 | Jb-h 1
5102 39142B1000S | Oyh7Fyb 391 YA 4
5103 39162B10000 |34 H"*M1038™ 4Vl 30 4
5104 3 9163F10000 ["#4"45"% M10 3% 4
5150 3 B2872)51501 (A"-2 1
5151 3 9153B10000 |Z7°Yy7 +Yh 2
5152 39162B10000 |34 H"*M103p™ 4Vl 3p 4
5153 39101B08020 |#" )k M8X20 2
5160 3 B281915160 [i°YI°A"- 1
5161 39110B08016 | M8X16 77°tyh 2
5180 3 B281915180 | 7y0-5"-7"3hyb 1
5181 39110B06012 [#" Ik 7y7°tyh 2
5450 3 B287215450 |5IbATL.6 1




89:(4% : HPJ-8100ESM2

EHNo.

HPJ-8100ESM2

RitiNo. #mI1—K L FRE
5453 39110B08020 [#"WIM8X20 N"£L3Y¥+ 2
5470 3 B287215470 |5°9bB 1
5480 3 B287215480 |5°IpC 1
5530 3 B2872155301 |57k 3hyb 1
5531 39110B08016 |#" Ik M8X16 77°tyh 2
5532 39110B06016 |+ 77°tyM6X16 2
5550 3 B287215550 | #19#5° b 1
5620 3 B287215620 | AM-1UF 1
5621 39110B08016 |#" )k M8X16 77°tyh 2
5660 3 B281915660 ALY 1
5661 39110B06012 |k Py7°tyh 2
5680 3 B281915680 | AbI° 1
5681 3 9101R08020 |i"Jk M8X20 SUS 1
5682 39162508000 | L34 h"% MBI SUS 2
5683 3 B280055824 |#3/\"% M8 SUS 2
5684 3 9154R08000 |UYH 1
5700 3 B2872315700 |53V A 1
5701 3 B287215701 | 5°U394° 4B 1
5702 3 B287215702 |5 RY4°4C 1
5703 3 B287215703 |5 U#Y4° 41D 1
5704 3 B287215704 |5 U#Y4ME 1
5705 3 B287215705 |5 U#Y%°MF 1
5731 3 B281915731 | Ak U3°L 1
5733 3 B287215733 | Ak°Y¥°N 1
5734 3 B287215734 | Ak°¥5°0 1
5735 3 B281915735 | AR U¥°P 1
5736 3 B287215736 | AK°»3°Q 1
5738 3 B287215738 |Af°U¥"S 1
5739 3 B287215739 | AR YT 1
5740 3 B287215740 | Ak ¥¥°U 1
5741 3 B287215741 | AUV 1
5742 3 B2872)5742 | A USTW 1
5810 3 B1265H5810 |¥tY> VS-150 4
5811 3 9101R08016 |i"lb M8X16 SUS 4
5812 39163508000 |A"#4"p"% M8 SUS 4
5813 30090008070 |#"5"% 30X9X3 4
5815 3 9140R08000 | OYh7FY+ M8 3
5817 3 B281915817 | h3- 4




